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Example: A tank has the shape of wedge (shown bellow) is completely filled with
water. The height of the tank 6 ft., the width of the tank is 10 ft. and the tank
éxtends back 12 ft. It is filled with water to a height of 8 m. Find the work required
to empty the tank by pumping all of the water to the top of the tank.
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Wt 3T Calculus I Briggs/Cochran ET Volumes by Slicing Lucero: 514

Name: A:m SIM @I '%4
Worksheet: Sections 6.3

N Volumes by Slicing §6 2

i — OTHEZ

| 1. Compute the volume of the solid whose base Is a triangle with vertices at (0,0),(2,0),(0,2) and ‘ E’(AM PLE

L whose cross sections perpendicular to the base and parallel to the y-axis are semi-circles. l '2_2 3

—m_‘__“-_.-__-.--_ ______ ‘.-—____.___‘

A(S‘) afffl 0'{‘(& Seml'(/rm __er(R)Z /\7 :

= r % .

( (7 Y)) Tr(‘/ X +x*)
Z g,
w [ I
Volvme T (L/'-L/\(‘f X’/)J\( c L}
9 dx 2 X
— 77 - ’ . . _L :
*(C/y—Z\é?f x’ | R“TMNS.";‘j

@ Compute the volume of the SOhd‘Wh base is the region bounded by the parabola and line
y=x*andy=1 where

6\ a. The cross sections perpendicular to the base and parallel to
‘ the y-axis are squares.,

.- T 7 (7xr2) = (%) ‘
7(¢-3+%)-0 m) . g .

A(X)-’ aAreq of a 52(/4/? = (s,.d()v. |
“(/-xz)2= (/'2x2¢x.’)
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- Find the volume of the solid S is the region enclosed by y =2 - x* and the x-

axis. Cross-sections perpendicular to the y-axis are quarter circles. Find the
~ volume.

=T [ 2y
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= 27T | J x
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Math 31 | §6.4 Work WHeRE You
A XIS RESIPES .

(  Example
A tank has the shape of an inverted circular cone with height 10 m and base

radius 4 m. It is filled with water to a height of 8 m. Find the work required to
empty the tank by pumping all of the water to the top of the tank.

—am—

10 - x;
i *
( Wi =1F,d:
= Miodi et A y = 2%
= pV.a J¢ ' —— b1 ’
= pg (Tt x7) (10-%)dy G (x: yp)
= P9 (125uu) 10-24 )0y ‘f
IW = 9800% (L y )(10-29)dy  a, L
l
5_ P‘i( 944)(l0 ‘dk)[’%] Yot 2%
\ 16 Xévég"
N~ HTT 2 J
[ = p3(52)19)(10-2y) oy
( ° b
- 4800 . . |
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©
- 2 Jdw
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CHARLES 0, ppltfT

Math 31 uiz 8 September 23, 2016

Provide a presentation that is both clear and organized. Show all of your work, simplify
results, and give exact values only.

A tank is in the shape of a pyramid as depicted in the following plcture Take into
consideration the followmg qualltles that this pyramid possesses: CM L DM, CM L AB,

DM_LAB AD = BD, and AC =BC = AB. Also note that DM =30 m, CM =40 m, and
the t
e nangle AABC is parallel to the horizontal. Ffz ON T
BAck

A

[OoP RBoTroAa
C C.
SIDE
in - R A
m A
( / B D A
D D
1) If this tank is full of water, then how much work is required to pump the water to
the top, which is open, so that the water flows out?
i) What if the top is closed and there is a spout at the top out from the water flows
and the spout is 5 m tall? Assume that the tank is not full, but filled with water
(L)

- C[

whose level is half the height of this tank. |
' R 7 Sﬁ}é\s
[ &

|
|
l
A M B
VOLUME (v) | BY spe€clAL
E S'z_(},j L TRIANGUES
s | THUS ), |
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TAKE HOm€ Quiz SOLNS

[P Tad bt = Aangie - thiCkness

—

—-base -height- Ay

b-h-Ay where by similar triangles,

2
-1- D i, orb= —@
2 403 40

Jgthy where, again, by similar triangles, a = L or h= 3 y
4 40 30 3

~1000(9. 8)ﬂ 27y

_39, 20043 ,
9
’ w, =14,

39.200+/3 .
- ‘/—y}"Ay-(?'O—y,)

— YAy

_39,2004/3 (30-y,)y2ay

39,2003 (
9

30y -y} ) Ay



Math 31 uiz 8 " September 23, 2016

C, \ Provide a presentation that is both clear and organized. Show all of your work, simplify
results, and give exact values only.

A tank is in the shape of a pyramid as depicted in the following picture. Take into
consideration the followmg quahtles that this pyramid possesses: CM 1 DM, CM L AB,

DM 1L AB, AD=~BD, and AC =BC = AB. Also note that DM =30 m, CM =40 m, and
the triangle AABC is parallel to the horizontal.

D ARC A FRONT 3B:M)A}
Ts EQUAL . \/ C
A ARD C SIDE
(1S TSOC.
D
B
B oA A R
BACK ' v
.
BRACK FIZONT
¢ €
" Sib
i) If this tank is full of water, then how much work is required to pump the water to

the top, which is open, so that the water flows out?

1) What if the top is closed and there is a spout at the top out from the water flows
and the spout is 5 m tall? Assume that the tank is not full, but filled with water

Y whose level is half the height of this tank. r 5 \E 40 - "
l e ——. ™ —
(H%Bo) X 80 l EL
A3 | .
, @. =_"E:.‘.
2 L
EQUALNTERAL. | -
TRIANG L |
SIMI-ARTO \
C
¢ ©-50) - I
¢ F b, & hi ave tle bgse |
DM = 30 mL HELLHT oF TH € SUILE |
l

THEN, Tm by
515\ ac bt
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1 30
_ 39,200J§(10y3_1y4]
9 4 '

_39,20043 ( 1 ]

270,000 - —- 810,000
9 4

~39,2004/3
9

_39,2004/3
9

=39,200+/3 - 7,500

‘.—— -~‘~---~

1-294000000\/—NmorJoules x 5092229373 .4
N S'Oq X IO"

1) What if the top is closed and there is a spout at the top out from the water flows

and the spout is 5 m tall? Assume that the tank is not full, but filled with water
whose level is half the height of this tank.

(270,000 - 202,500)

-67,500

Let's reconsider what to change in the expression *:

w, = o, 280\[_ y,sz-(35— y,) (because the distance to the top of the spout has

- changed)
and now the integral to compute the total work done becomes:

_ 1539,2004/3
W _Io o)

(35y% - y°)dy

_39,200\/5(_@}/3_11,4)'5
9 3 4~ .

_ 39, 230J§ ( 1 )

13,125—2-1,875

_39,2004/3 54,375-1,875
9 4

_,_,--_~ --"‘-—l

:— i} 50%000\/- N-m, or Joules |

‘-—‘w_—.d“

990155%F] . 1

9.9 x|0*




A TANK w/ A PARABOUC FRonvT

M HIGCGH £ |lOmMm WIDE @ ITS
ToP (S FILLED W/ WATER.

1 M ABOVE THE TANK sITS A
spowrT. IF TANK IS StM] =cikcuLap

|F VIEWED FRrom ABoVE, HOW MuciH

WORK IS REQUIRED TO PumpP HALE.
OF THE WATER GUT OF THE TANE?

 CIR<LE
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QLY

~ The tank below is full of water. Find the work required to pump the water out of the spout.
Use the fact that water has a density of 1000*/, . -

. 3 .
- jO(S-"a)%oo (Hyldy
:L‘l(qgoé)jf(ZOy —thz)db
oy = | 3 .
“'(Q?xx/)[lo‘j —%33]0

=Y (ﬂ%)[?o —%(2?):‘
( -
=1 (Gec)[ GO -H(Q) | (5-y)
=Y (qec)(6-9)

- 1000 (B)f(tj)c}gg

= 9900 (£)($y) Y (2)
= 92w (£) Y dy



a densnty of 1000%/,

. If the tank is full of water, determine how muchis required to pump the water
the level of the top of the tank to empty the tank.

b. Is it true that it takes half as much work to pump the water out of the tank when it is
only half full of water as when it is full? Explain.

A cylinarical water tank nas a height or 8 m and a radius ot 2 m. Use the fact that water h@

(]OOO)TC( d A‘j
Hooore (8 ‘\j;) Ay
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Math 31 | Stewart Quiz 6 Albright
Name: |

( Quiz 6: Work §6.4

1. A cylindrical gasoline drum is laid on its side. The drum has a radius of 1
m and length of 3 m. (assume gravity is 9.8 m/s? and that the density of
water is 1000 kg / m3)

a. If the drum is full of water, determine how much work is required to
pump all of water out of the tank from a spout is 1 m above the tank.
(Make sure to draw a picture that clearly defines your coordinate (2)
System and that identifies one of “slabs” of water you are moving) (2)

i
. | .
— ‘( —-ﬁsu’bze L—Z-G:(;*

)
T W, = J” ik 9(12::)(2 y ) 6w/| 3z)d5
() ' ,
. =6((1800)f 2 [-y2 WA%
‘ p Coes'h 5‘»18‘
- 7 ll'(qew)f!““-tpdtj ;v 202 4‘(832
(’ ‘ O Ej N’ie
| = 2+352(l0%) fo [ (31' dy Jy ;@%
| o
- : . 2.351(!05)j CosO cosed@
= | -
1?2 = ‘_,.%’z. I\ = 2. 382()05)J'3t-l COSEQ “Ol@
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|
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“eE s K@) )]
42

= (loec) (A\g)(3)(23< )('l m) (Cl 'u)
= 9200(6) Dy, (27y:) \i-
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WHAT IS THE LENGTH oOF ExXAmpLED.
ONE SINE CURVE 7
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L. * fo V1 +coszx dx
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FIND THE LENGTH OF f(x) = V3

BETWEEN X =0 £ X =Y. \\
‘ AV
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ADIVING POOL THAT IS Yy DEED  ExAWPE

[ Pressure on strip

=~ pgla = ¥,)

Force on strip

~ pg(a — ¥,) + arca of strip
| ~ pgla = ¥,) W@g) Ay y

S WALLS , FIND THE Foﬂcé
ONA WINDOW THAT IS s‘cpuz\pg)-zl-/m on. a

SIDE | W/ THE LowER €psr OF THE WINDoW
AmM Erom THE BOTTEM. OF THE Pool '

Fy = w(y)Ay.pgla — y).
area of strip  pressure v S

F~ SF,= > pgla— F)w)Ay.
k=1 k=1 |

F = lingo EPS(‘.',-" Yi)w

| kwm]

(?&)A)’ = ./0 pgla — y)w(y) dy.






AV ERTICAL DAMm HAS A PARARoLic GATE
AS SHOWN IN THE DIAGRAM . FIND THE

o, PR
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V=AR : - Pﬂ(‘o“‘j)(z Vit-y )dy oy = 2
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A TANK V\// PARABoLIC FRopjuT

THAT IS SIX merers & NINE ME€T&ps HIGH.
THE TANK BExTEADSs RAcCK 1O /M ETERS
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TANK

T,
—— i 20ty CE— S - aE——— - —ee——mnac,, R ——- e ——— — A — e p— ————— | e — ——
E———"

'F HALF OF THE TANKs WATER | <
Pumpep ouwT

_——.‘_'_.—
—__‘*—'——A“A

FIND THE AMOGWNT OF WORK To
TO REMoOVE HALF OF THE WATER

FIND THE HYDRO STATI ¢ FoReg
ON THE BoTloM OF THE TANK
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8.3.17]

17. A swimming Pool is 20 ft wide and 40 ft long and its bottom
is an inclined plane, the shallow end having a depth of 3 it
and the deep end 9 ft. If the pool is full of water, estimate
the hydrostatlc force on (a) the shallow end, (b) the deep end,
(c) one of the sides, and (d) the bottom of the pool.

Solution

17. (a) The area of a strip is 20 Az and the pressure on it is éz. 40 ft

3 3 20 ft 9
F= [ 820 z = 205[}2?], =208 § =90

= 90(62.5) = 5625 1b ~s 5.63 X 10° Ib 3t

!

| .
(b) F = [ 6220 dz = 205[12?)° =205 - & = 8108 = 810(62.5) = 50,625 1b = 5.06 x 10" Ib.

(c) For the first 3 f}, the léngth of the side is constant at 40 ft. For 3 < z < 9, we can use similar triangles to find the length a:

9 — 9 -
s = 6” = l.—.40-—

40
F = [38z40dx/+ [}

(32°]o + 34 3 (02 — 2*) dz = 1805 + 5[32" - 327,
&
= 1805 + %°§[(-’—§-9- —~243) — (& - 9)] = 1804 + 6008 = 780 = 780(62.5) = 48,750 Ib ~ 4.88 x 1" 'b

(d) For any right triangle with hypotenuse on the bottom,

; Az |
sinf = | =
hypotenuse
|
, VAT +62 /409
hypotenuse = Azcscd = Az 6+ = e Az

F= [? 6220 L8 dz = §(20 V409 )8 [§2%),
= 1.101/4094(81 — 9) = 303,356 1b ~ 3.03 x 10° Ib
|
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10pq fa-ydy
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= opLy -4 Me

Pg (Lto')(‘i--cj) dy

1)

= H0pq [9(9-¢) - L(Ctz 6?)]
E Lfopq [2% J.(z/ -‘ze)]
= Yopq [ 27 -
= l,?/Opg
Fo = 5P9 397 -47]( ¢
- Qoopa

F+E, < :}E;C)pg

= (3eD) (62.5)
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Math 31 | Stewart 8th Work Albright | Spring 2017
8. Determine the hydrostatic force applied to the vertical plate below submerged in water.

g8.3



Math 31 | Stewart 8th Work Albright | Spring 2017 §

7. Determine the amount of pressure and force acting on the bottom of a cylindrical drum of
olive oil with base radius of ¥2 m and height 1 m. (Note: the density of olive oil is

9204/, ~57.41/,)
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Math 31 | Stewart 8th

Work

Albright | Spring 2017

9. Alarge tank is designed with ends in the shape of the region between the

2

/9583

curvesy =X and y =12, measured in feet. Find the hydrostatic force on one end of the tank

2

if the tank is filled with gasoline to a depth of 8 ft. Note gasoline has weight density

s=a2/
ft

System Force X Distance = Work
International System of Units (Sl) S (N _ kg zm) Meter (m) Joule (J)
S
Centimeter-Gram-Second (CGS) Dyne (dyn) | Centimeter (cm) erg
US Customary System or British JﬁPound (Ib) | Foot (ft) Foot-pound
Engineering ( ft- Ib)

Conversion Factors:

——

1N=10°dyn =~ 0.225lb

A1_ 10 Arr AN 7220 & |

1m~3.28ft

1 |b=~4.45N

1f.lh~1AR1=13WEx1N ers
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- 4900 [Lt‘j “7/927

= Yqoo[ Y(1-1) ":2'-;(‘—,7-_@)]
— L‘H(’OE'Z-"%(S)]
_Hae[ 4]

— 2450 (9)

= 22050 N

1
|



/ ADIVING PooL THAT IS YHnw DEED
L& FulLL OF WATER HAsS A4 VIEWING WINDOW

ON ONE OF IT's WALLS . FIND THE FoRce
ONA WINDOW THAT IS SPUARE ,Tm on &

SIDE , W/ THE LOWER €EDGE OF THE WIN DOW
I M EROM THE BOTTOM OF THE pPocol

F = PA
J5= 9000 (3-9 ) L dg

396w(3-4) J
jo"{(g 9) 7

Fy = w(y,) Ay pgla — ¥;).
\-_V——.—/ﬁd | ‘_ . T
area of strip  pressure .

F ~ sz 298(“ = Yo)w(yi)Ay.

( Pressure on strip "
~ pgla = ¥}) _
Force on str"‘p I llm ng(“ yow(y)dy = / pgla — y)w(y) dy.

=% k=
~ pg(a — ¥,) + arca of strip

N A
| ~rEe—Sgwally




| =(3)*
/ @ A:'/q)

EX3: A diving pool that is 4 m deep and full of water has a viewing window on one of its walls. Find the

. . 1 . . :
force on a window that is a square, > m on a side, with the lower edge of the window 1 m from the

bottom of the pool. N

]—%

3

| = qﬂo,ofz( Y-y 33
I

‘
|
|

2430 [Uy 1493

|
-
‘r'
L
wy

F. = P A
= P9 (H-9)(384)
J£ = q980(4-y)(3)dyY
3

J |

= F32S x,()g/\/

Nr— . -
e ——

l 11 l
‘/F =12000pg Newtons | F =1—6-pg Newtons Il./
I

"/F=1.l76x108 Newtons | F =6.7375x10° Newtons'} l/

EXAMPLE 2.
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" PRéssure oN A DAM. EicAm pLe

( ALARGE VERTICAL DAM IN THE SHARPg OF
A SYMMETRIC TRAPEZ20ID HAS A HEICHT OF 3om,

WIDTHOF 20M C IT'si3ASE€ & A WIDTH ORYom
@ \T's TOp. WHAT IS THE TOTAL FOfCce ON

TH € FACE OF THE DAM  WHEN FULL?

9
F = [ pg(a-y)wiy)d
fo P9 (a-y)wly)dy
(
QL =
-y =
wiy) =2



/_{,

/

!e
{ P =PLAL

< [pg((l-g;)][w(q;)éstﬂ .
~PY (30-3)[27&\9] ‘
IF =2pq(30-y)($+0)dy

30
"5P9 ], (00-4) 9y
SO
= 5P9 [0y -44] |

= 2,000 pg = qeco(lzoco)
= [.13+6 X IO N .



PRéEssuRe ON A DAM.

(  ALARGE VERTICAL DAM INTHE SHAPE oF
T ASYMMETRIC TRAPEZOID HAS A HEIGCHT OF 3oM,
WIDTHOF 20 M C IT'si3ASE & A W)DTH opqoM ¢
@\ T's TOP. WHAT IS ThHe TOTAL FOCE ON 7
' /

10
/
([

-
TH & FACE OF THé DAM WHEN FUlt:

= 9900 [ 12000 | = 39 _
e '?(6 OO‘OOO \ﬁ_() _ B(X-'lO)

= [.1+6 x |6 ° N\ -é-tg*-\()‘-’-k

11 J

T’
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Solving Force/Pressure Problems EXAmM PLEL

1. Draw a y-axis on the face of the dam in the vertical direction and choose a
convenient origin (often taken to be the base of the dam).

2. Find the width function w(y) for each value of y on the face of the dam.

3. If the base of the dam is at y = 0 and the top of the dam is at y = g, then the
total force on the dam is

a
It = [ pgla — y)w(y) dy.
0 ;.V_/W—’
deplh width

Be aware that your origin may change depending on the situation.

EX2: A large vertical dam in the shape of a symmetric trapezoid has a height of 30m, a width of 20m at
its base, and a width of 40m at the top. What is the total force on the face of the dam when the reservoir

1s full? \ﬂ L.lo /7‘ lj:B(_x_ lo)
_____ h =3%x -30
¥ '(20,30) :
:| 30 R LT L W//J/f"f/ ("xw(‘h) :
1 x J
(10, 0) L
Xz 3 Y - | O
/
F =Moo o
= lgcj J
Fi = HiA



Xl_‘_(jL:gé

P:E:Po”m YT N3e-y*

A -3 F, =p9(M-4)2x) 4y
F=nma |’ :Zpa(%'(ﬁ)wdg
F=pVs ll anlij('ﬂ"‘j)Waﬁ
- =pfikg )

_F | F = [ 2p9 (4 NGege oy
= = ' o -
= PARg T 220 [ Ty Be-g °5
A |
:,0‘“9
F:: PA ________‘ | .
= phg A 29.04 x 10> N
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]
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. 9Y =
> = Cot x 2
O..,'I-lj d,x l/z
|
jcu—g Y :fCOtX P
'nlafl-g/ homy IVL,,SMLY)"I'C
[ty = % [sinta)
oty =+ QC’Sin(X)
Yy = —at e sin(x)
Q- -'—"‘Q-IQQSW\,(EE)
S §
1a - g€ ‘ HaJ3
V3 e e C"’Vb(? )
Ej ~ _Q‘i:"’f}—-\lggw\,(x) EXAMPLE |






| TAN K
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S(+ T
! ) BE THE TOTAL AmonpaT
O~ SALT "M N/ S
ME T NK .
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+t = 30
< _ 2
(30) = -130e 2¢° + |50
3

= —130¢€e 20 + 150

X 38.]10F96306 ...
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EXPONENTIAL VS. LOGISTIC



P(e) = 10 M = |OCCO
P(3) = I5
dPpP
IF — kP T
! P THewN
|
"F;dP-kd-t

'VLP = kt ¢ C3 ngcz"‘C,
P = eFtets

_ Kkt
P = Ce - ng

(S m———————— R e i R
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N 3 _63k
. C =10 | L 2
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- 103k =g 3
P(3) =10€ | (In2)t
15 3k o Pir)y=10e



P o JA
AL = | O 5
|+ A g7kt
o e e 23 Py = |O
- V\({) A:M__P(O)— c‘qo
P (o) o =99
| £ 00 o Thi)t T:?q-uhg)b

I ] . I
R = S
—ESECERCER T
e e




2
_ In9o
t - l"“z ~ 1 , LhMTs OF
n 3 Time

TR, GESm
.
o=t Y
e S —
T —
e I —
TS e,  Swmm— aa—
RIS, J—
b S
e i —




K+t NOTES
P(t) - PQ -
P('l:) = /M
| +Ae <t

-~ el
‘—‘_h
A —— Iy,

O S ——

e, CUmSSSEDRADN | o,

o — T

~~~

- k¥ COS(r't-—¢)

OTHER DE
MODELS
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=Mk (M-p)(P-m)
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SoLveE THE FOLDE:

l
|
| {
Plx)dx
Y'+23<3=2'><3, : L=d
' l
C Y +te Z%Ej:ekzx?:f N
d 2 5 Plx)dx = p'e
5-3—6(6 j):e"‘ 223 'I . .
| T=ge"
I (ex? _ Xt 3 |
dx( 9)dx —fe 22 dx R, |
6%13 ‘:J‘ex 75 dx ', dn = 2 Juc
ey = [Tt andn |
S .
kjﬁqc oz fwe"“d% | DOES I T
Nl " " l MATTERF
ge = WE - € +C '362'
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Xt f?ﬂ@ﬁaﬁx
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SOLVE THE FOLDE ', Pix) = o

X lnx
I 4~ .# ‘j :qj(l I
v XInx | meax
[l , l' :j(i)(,;\]})d)(
R BT I PEt FC Y RN
d , & i 2 -LJ
d‘:)‘((‘j’y\’)():q&lh\,k | ! b " C=a
Y ch:-jcbcllh% d X :
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| . MATH 31
A TANK (ONTAINS 20 Kg oFsaetr  97°°

DissoLvéeDd IN Sooco 'L OFWATER.

BRIN € THAT (onTAlns O.01 kg OF SALT
PER LITER OF WATER ENTERS THE TAnk IMITMALY

AT A'prTé OF 25L /0 THEAMOUAT 1S D €CcrEASING
BY X/ MIN w/ THE AMennt OF SALT REMALNG-COn STANT .

"THE SolLwTieN IS KEPT THORO Wi-HLY M1 X€ED
AND DRAINS FRom, THE TANK AT RATL OF
25 L/ MIN . THE TAMK HAS A CAPACITY OF 6000L. .

HMOW MucH SALT ReMAINS IN THE TANK

ATFTER HALTF OF A HOUR. (SHOULD WE RE wWoRRIED
A BOWT Ay THING?) - |

LET 5(t) REPREsEnT THE

AMoOuntT OF SALT INTHE TAMK
AT Tim€ + (MIN),

= SlN o Sou.;r

:°°°'k9.(25-’t)L

L

M IN

- SI#) kg 251

e — ——



/ . TANK 97515

TANK (CUNTAINS 20 kg OF SALT
DISS OwéED |IN Goool OFWATER.

BRINE THAT COMTAIMNS  0.03 kg OF SALT
PER LUTER O0F WATER ERTERs THE TANK
AT A RATE OF 2SL/pm N -

THE TANK ISKEPT THoRouG-HLY MIXED
BUT DRAINED B 20 L/MIN .

WHEN WILL THE TANK QVERFLOW |~
THETANK HAS A Goco L CA Pl‘lélf‘y‘

. R ———— . AN — — —— —  ~ cg—— S Cwe— N— W
p——

Ye o :(o.oz Kg)(ZS L) _ Slb)kg L(ZOL)

ot L - MIN T (5600 +58)8 Mn
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g};’ ) | 000 +¢
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o 575)

A TANK (ONTAINS 100L OF
WATER.

A SOLWTION W/ SALT CON CENTRATION O R

O.-H4 Kg /L s APDED AT A RATE OF
S L/miN.

THE SOLTION IS KEPT MIXED £
DRAIWNED AT A RATE OF 3 L/ nin -

—  S— -
- ——— —— —— e — — o= P pm— S—— A—

LET S(t) Be& THE AMOUNT OF SALT
INTHE TANK CTIimg t.

S(b) - S,N(t) - SO(&T )

ds - dSm 3800\11'
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